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3) Logarithm
log(AB) =log(A)+log(B)

log (%j =log(A)-log(B)
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1) Bode magnitude plot

Plot 3zwi1e e(rad/s) uaz 20l0g,, |G (jo)|(dB)
2) Bode phase plot

Plot szudne o(rad/s) uaz ZG( jw)(deg)
3321, Bode plot

v
1) "1 break-point frequencies (AaAras a lwiuseld)
uazuLiegaeAnad @
o o . , = g
2) ANUTLLAAZTINAINND SIEr#Vata BTN

2.1) Real pole/zero, (S + a)

when @< a, jo+a=a.

when @=>a. jo+a=~ jo.
2.2) Complex pole/zero, (SZ +24as + az)

when @ < a, (jm]2 +2¢a(jo)+a’ ~a’.
when o > a, (jm)2 +2la(jo)+a’ = (jm)2 =—’.

3) Slope 284 Bode magnitude plot fn

20XN( dB j 99 6><N( dB j
decade octave

i 1/2



@eulaee 3n dns¥nunade 2 weieu 2559

ZG(jw)=90"xN Plot zwin9 £G ( jw) (deg) riu
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1) Resonant peak value, M,
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